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T favafaaras udielr ug=-ua, 2015 (iii) The largest plant of angiosperm is-  rtuonline.com
i i (2} Oak (b) Salix
B.Sec. (Paﬂr_l I)h:.i:xle_ﬂlll?tlﬂﬂ, 2015 (c} Eucalyptus regans (d) Sequoia semipervirens.
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[Also Common with subsidiary Paper of B.Sc. (Hons.) Part [i] @ )
(Three~Year Scheme of 10 + 2 +3) | a) " g
BOTANY . (C] qaﬂ%‘ = 3:'T21 (d) liI.EF:z?I HHET
rtuonline.com FirsT PAPER rtuonline.com (iv) Vessels are absent in—
(Plant Morphology and Anatomy) (a) Gnetum (b) Trochoderidron
Time Allowed : Three Hours Maximum Marks : 33 (c) Mirabilis (d) Capsicum
(1} No supplementary answer—book will be given to any candidate. Hence the Afewr aﬂmﬁ BRl ©- L
candidates should write the answers precisely in the Main answer—book (a) Fem ¥ (b) TFIEEA Hr
only. (¢c) Toufafam & (d) Fmsa =
gt Tend = T sw-qfas T 9 W o wherdE woafe (v) The best example of pagoda tree is—
- 4 {1 wd v % I e (a) Mango - {b) Acacia
= I = e A {c) Dalbergia (d) Alstonia
(2) All the parts of one question should be answered at one place in the / . A
answer—book. One complete question should not be answered at T FE F A D TR -
different places in the answer—book. (a) =MW {b) ==t
R W TE Y oo ™ R vl & 3w sw-dfae d (¢) YiRM (dy Bfem
AT WA 9 B FE F 9@ TF o A W w5 (vi) Leptoco_antr%c. vascular bundles occur in—
Attempt ALL Questions. (a) Mirabilis (b) Dracaena
Tt W # ST el (c) Bignonia {d) Salvadora.
1. Answer the following objective/short answer type questions— Ea)m“ £ H‘_ﬁﬁ[ ESRLiE i) -
e agfamediaregsada Al % I - a) Trafster 3 3‘%“\"“ .
. . . fatfran § i
(i) Position of apical meristem in a root is . (‘3? _ ' (d) 'E |
(a) Apical (b} Sub-apical (vii)Which of the following plants possesses interxylary phloem and two
(c) Lateral (d) Basal, large medullary bundles?
e f feuf: (a) Leptadaenia (b) Boerhaavia
& T | w il ¢ : (¢} Achyranthes (d) Aristolochia
(2) ¥irie (b) SR 1 3 @ frm 99 F st wiee @ § 93 W W@ UH 9 §-
(c) ured (d) sTEmmEI (a) wrerfefmn (b) FEiam
(i) Grafting is not possible in monocotyledons because they— P (d) e
(? ::;ess sc;ttered vascular bundles {viii)Periderm of a tree is mainly constituted by fellowing tissues—
(b) Ha ctrnal;ji nation rtuonline.com _ {a) Phellogen - Cuticle - Cortex )
{¢) Havep . ¢ (b) Phellogen — Phellum — Cuticle rtuonline.com
(d) Areher ageous. . s " (c) Phellogen — Cortex — Phellum
Ceatrt e SR | T 3, wifw - (d) Phellogen — Phellum — Phelloderm.
() W O Foral gl @ ¥ o 99 F e Te T Q B SeR § i o -
(b) TN T WA g g (a) FeleH-FREHa-Fiea  (b) BaEH-FaH-FeFA
(c) T fem fa=ara arn o @ ' (c) WelsH-FEF-Fem  (d) TeleA-Fon-weed
(d) =g g1 2 (ix) Stomatal index of any leaf can be calculated by following formula—
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(x) Phyllode is modification of petiole and rachis of a compound leaf and
characteristically occurs in
(a) Opuntia - (b} Agave
(¢) Acacia melanoxylon (d) Yucca.
wm?@vﬁémammw%amw&!ﬁmm
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(a) ArTE (b) @i
(c) Toemadt ag@ o (d) TFeT 1)
(xi) Who proposed Korper and Kappe theory of root apex organisation?
(a) Shuepp (b) Thomson
(c) Haberlandt {d) Nagelli
T Wi wned w1 w0 9 w1 o fewd whafa fean
(a) ¥q9 (b) AT
(c) ¥F&wrs (d) et
(xii)  Which of the tissues of seed form perisperm?
(a) Embryo (b} Seed coat
(z) Nucellus (d) Endosperm
A FT B FAF GG T 27
(a) oo (b) & Faw
(c) HraEHT (d) qurd
(xiii}Which of the plants is known as "tumbelweed*?
(a) Argemone mexicana (b) Amaranthus album
{c) Viscum album (d) Calotropis procera.
FAE IRy ¢ Tt FEem 87
{a) T (b) =itemE
(c) Toream (d) 3|
(xiv)Vegetative propagation in Narcissus takes place by—
(&) Tubers (b) Corms
(¢} Rhizome (d) Bulbs,
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T § FfoF wadq fFus 3 g 52

(a) F=T (b) TTF=
(¢) wF= (d) vew F=
Fill in the blanks rt :
uonline.com
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(xv) Trichomes of stem are of __cellular type.
G 1 A FIOHEA THEL F 260 Bl

{(xvi) Cortical vascular bundles of Nyctanthes are  structure.
FRiE & 30529 94961 (e O T
{xvii) The full formof VAMis

VAM #1 0 #........ 81

(xviii) _  is the source of sisal fibres.
diae W % EE. R %x18=9
Unit-1 ( 218-1)
. What are complex tissues? Explain it with ,reférence of xylem with suitable
diagrams. - : '
Wieet Sa% ¥41 37 oW & °<4 ° 30 sfwa =4 g0 awEEd
Or { Jg47)
Write short notes with suitable diagrams on the following—
{a) Secretory Tissue {b) Sclereids or Stone Cells,
g o= afem e w feopoft fafed-
{a) EHE FF (b) e o =F wiEEl 3+ 3=6

Unit-1I ( 3F13-11 )

. Define anomalous secondary growth. Describe it in Bignonia and Salvadora

- with suitable diagrams.
o fodras afz =t winfys s feaifma = oegst o o saw &
B HAEEAl 34 3=6
Or ( 379ar )
Write short notes on the following — rtuonline.com

{a) Vascularisation of primary shoot in dicotyledons
{(b) Branching pattern.

. e v fouit fafed-

(a) fedrowdt of & wafis Wi § daedeo
(b) v ¥ _ .
Unit-TIL{ SETE-111 )

. Describe diffeerént theories to explain root apex organisation.

Ta i W W wwer & R Rt fagl = ool ife 6
Or { 319aT1) ]

Write short notes on the following — rtuonline.com

(2) Adaptations of leaves to water loss and water stress 5 ¢
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(b) Interaction of root with microbes.  rtuonline.com

= ot feoreit fafiEs- _

(a) T # wenwe 3 wlews & ol ageme

(b) 4= wd &9 <l w1 R fEan 3+3=6
Unit-IV ( SHE-1V)

- What do you mean by dispersal of seeds? explain different factors of seed

dispersal.

dS % WHIOR W T WA 22 e v & fafie SRl 5 ommd 6
Or( 21947)

Write short notes on the following -

{(a) Suspended animation in seeds (b) Grafting,

e o feooft frfed-

(ay ¥l F Freifag Sfem (b e 3+3=5
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